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Give the correct answer to the following :
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taxpayer bears both i and
incidence of taxes impact
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taxpayer bears incidence of tax only
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(i) TR I
progressive tax

(iii) TAPNST T
proportional tax

(iv) @I 518 T
None of the above
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Which of the following is not an

. ‘admiihistrative ‘revenue?
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(i) R
Fees ‘
(i) R ARA
Licence fee§ .
(iii) SR
Fine
(iv) ¥9
Tax
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Which of the following is not a method of

repayment of public debt?
(@) e Ml

Sinking Fund
(ii) TR ]

Capital Levy
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(e) SRS e g
Indian Finance Commission
() TreT RS SRR a4 rarefia®y

Major Recommendat;
. ations of
Finance Commission the 13th
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Explain, with the help of diagram, the
modern theory of incidence of taxation.

.(a)mﬂﬂmm@wqﬁ?mww
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Explain the causes of growing public
expenditure in recent years.
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«Internally held public  debt is

burdenless.” Is the statement correct?
Give reasons.

. (q) THES ICH GFSTAT WA PRI
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Explain the procedures followed in the
preparation of India’s budget.
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p) TEERE WM 2 TN orR e
N TTwIPTR AR ] | 9+9=11

What is fiscal policy? Explain the

objectives of fiscal policy in developing
countries.
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7. (a) WWWWWWIW
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Explain the defects of Indijan tax system.
Give suggestions to avoid these defects.
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(b) SR CrR@ET 2012-2013 SR AT A4
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Discuss the majn characteristics of
India’s latest budget for 2012-2013.
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